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% % 4 B | B K % % 4 B | H %]
R — 36X 3 10, 800 2 36X 12 43, 200
———————————— T 3 10,800 | —————— &t 12 43, 200
B 36X 3 10, 800 B 36X 23 82, 800
____________ 1 3 10, 800 el 23 82, 800
RHEE 36X 4 14, 400 < — 36X 5 18, 000
____________ |- 4 14, 400 el 5 18, 000
RE D E = 36X 14 50,400 | < 36Xx 7 25, 200
____________ = 14 50, 400 —— 7 25,200
EREO— 36X 6 21, 600 B— 36X 11 39, 600
____________ = 6 21, 600 el 11 39, 600
EREO 36X 6 21, 600 B 36X 16 57, 600
____________ = 6 21, 600 - 3} 16 57,600
e 36X 31 111, 600 B= 36X 3 10, 800
____________ = 31 111, 600 ——————— i} 3 10, 800
= 36X 99 356, 400 By 36X 2 7,200
____________ = 99 356, 400 1 2 7,200
e 36X 9 32, 400 BO— 36X 1 3, 600
____________ 1 9 32, 400 i} 1 3,600
A 36X 2 7, 200 filt = 36X 2 7, 200
____________ |- 2 7,200 it 2 7,200
TFE 36X 4 14, 400 F— 36X 2 7, 200
____________ +- 4 14, 400 —— 2 7,200
FFEAN 36X 9 32, 400 F 36X 8 28, 800
____________ = 9 32, 400 1 8 28, 800
IR 36X 6 21, 600 = 36X 1 3, 600
____________ = 6 21, 600 —— 1 3,600
FrEE = 36X 6 21, 600 Cc= 36X 41 147, 600
____________ = 6 21, 600 —_— 41 147, 600
B 36X 9 32, 400 CIy 36X 25 90, 000
____________ |- 9 32, 400 - it 25 90, 000
= 36X 33 118, 800 CHE—= 36X 3 10, 800
____________ + 33 118, 800 —— 3 10, 800
| I K 406 | Bk 1,461,600 | (K)= 406 | (/)= 0 ]
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% 4 m [ | % g4 WMo | # %
CO— 36X 14 50, 400
____________ 1 14 50, 400

e 36X 28 100, 800
____________ I 28 100, 800

FE= 36X 11 39, 600
____________ I 11 39, 600

T 36X 29 104, 400
____________ 2t 29 104, 400
TR 36X 13 46, 800
____________ = 13 46, 800
BT 36X 20 72, 000
____________ = 20 72,000
B 36X 13 46, 800
____________ = 13 46, 800

N i 128 Ak - 460,800 | (K)= 128 | (/)= 0

| & 3 B B34l Bc¥: 1,922,400 | ()= 534 | (V)= 0




